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Verifying Trigonometric ldentities

1) Verify that each trigonometric equation is an identity

1)

tan® x +1
T —secx
secx

1-sin?x
COSX

=CO0SX

sin?X +tan’ x +cos? X =sec’ X

sin? x (1+ cot? x ) =1

cos’® x (tan2 X +1) =1

tan®z sin’z =tan®z +cos’z —1

1 1
—+ -
1-sinx 1-sinx

=2sec? x

coty +1 I1+tany
coty -1 1-tany

cscXx +cot X
tanx +sinx

=Cot X cscX

tan’t -1 tant —cott
sec’t  tant +cott

sec’s —tan*s

- — =sec’s —tan’s
sec’s +tan’s

cot?t —1

— =1-2sin%t
1+cott
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2)

16)

18)

20)

22)

24)

sin? x
=SecX —COSX
COS X

CoSX N sinx
SeCX  CSCX

=sec’x —tan?x

COoS X 1
sinx cotx

cots +tans =secs cscs

sin*x —cos* x =2sin*x -1

CosX +1  cosx
tan®x  secx —1

——— —=secy +tany
secy —tany

1-cosx

= (cotx —csex )’
1+cosx

sec* x —sec® x =tan*x +tan”x

1+cosx 1-cosx

- =4cotX CcscX
1-cosx 1+cosx

2 _1l-sina
(seca—tana) =Ire
+sina

sin* x —cos* x

sin® x —cos® x
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(1+sinx +cosx )* = 2(1+sinx )(1+cosx )

(secx —cscx )(cosx —sinx ) =cotx —tanx

(1-cos®y )(1+cos’y ) =2sin® y —sin‘y

tany N siny
1+cosy 1-cosy

=coty +secy cscy

2
(secx —tanx )" +1
SECX CSCX —tanx cscX

=2tanx

1-sinx
1+sinx

=sec’x —2secx tanx +tan?x

sinx . COS X
COS X 1 sinx
sinx COS X

SinX +CoSX =

1

sinx Sin X COSX
1-cosx  1+cosx

=CseX (1+coszx)

1 1
+
tanu —secu  tanu +secu

=-2tanu

sin?asec’a+sin®acsc’a=sec’a
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